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1. Determine the quadrant(s) in which (x, ) is located so that the condition is satisfied.

‘B) quadrant IV

C) quadrants I and IV
D) quadrants O and IV
E) quadramts I and IV

2. Find the distance hetween the points.

(2,-9),(2,8)
A) 17
B) I
C) 4
D) 4
E) 0

3. Find the midpoint of the line segment joining the points.

(1,9.3,7
A) (=2,-8)
B) (8,2)
C (1,-1)
D) (-1, 1)
B) (2,8

4. Find three ordered pairs satisfying y=2x~35.
4y (3.7, (43), (5.5)
B) (3.1), (4.5). (5.5)
<y (3,1}, (%3). (5.5)
D) (4,3, (5.9}, (6,7)
E) (4,3), (5.5), {6.11)
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Page 72

6. Find the x- and y-intercepts of the graph of the equation y=x* — x*.

A)
E)
O
D)
E)

0, ovu A_uou ; y-intercepts: none

,_L—,.H
| / ]
R
_

; /_ g

R A R
x-ntercepts: (0,—1), (0,1); y~intercept: (0,0)
x-intercepts: Alrovu APB, Arew y-intercept: APS
x-intercepts: mlrou“ Arovw y-intercept: Aoqcv
xintercepts: {~1,0), (
x-intercepts: {0,~1), (6,0}, Aoudw y-intercept: (0,0)
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110. Find the coordinates of the point.

The point is located eight units to the left of the y~axis and four units below the x-axis.

A) (3,4
B) (-8, )
C) (4,-8)
D) (-4,-8)
E} 4,38
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108. Use a graphing weility to graph the inequality. Shade the region representing the solution.

¥<4-la{x+2}

A)
10
-0 10
10
B)
10
) }lgga )
10
C}
19
-10 “ 10
10
D)
10
10 | 10
10
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0. Estimate the slope of the line.
sy

4
&

[+

A)
B)
&

D)

|

E)

|t

11. Find the slope and y-intercept of the equation of the line.
y=3x-2
A} slope: 1 ; y-intercept: 2

3

B) slope: |W ; y-intercept: 3

C) slope: 3; y-intercept: —2

D) slope: —2; y-intercept: 3
E) slope: 3; y-intercept: 2
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105. Solve the system of linear equations. . 14. Find the slope-intercept form of the equation of the line that passes through the given

X+y+z=9 point and has the indicated slope.
—9y+9z=-9]
*¥-9y+9z=-9 point: (4, 1} slope: m = -5
—y+9z=-5] A) y=-Sx+1
Ay (7.5,-3) ww y=-5x+ w
: y=-Sx+21
B) (57.-3) D) y=-Sx+4
'C) (8,6,-5) E) y=-5x+3
D) {6,8,-5)
E) (11,4,-6) 15. Find the slope-intercept form of the line passing through the points.
ﬁmo =3 Vv ﬁ.mu |®v
106. Write the form of the partial fraction decomposition of the rational expression. Do not A) yp=ix+2l
solve for the constants. B) y=5x-33
6 121
—- C) y=—x-—
x*+9x _ ) y=gE-3
P | B 1 .33
—— D =——x+=
A F+i5 ) ¥=-5*3
E) y=-5x+27
gy A, B
x x+9
o A_ B 16. Write the slope-intercept form of the equation of the line through the given point
x x M 9 . perpendicular to the given line.
A
) Qi
) a+a+w point: {5, 1) iine: 3x +'6p =0
Ax Bx I .8
E) S+— A) y=——x+-
) %2 x+9 ) ¥ 3 x 3
1.7
By y=——x+=
) y=-gEtsy
C) y=2x-9
D) y=3x+16
11
E) y=2x+—
)y >

Page 64 Page 11
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NEE

101. Find the fiftk roots of ——— ~—1.

z 2
A)
w, =cos{38%)+isin(38°)
w, = cos(110°) +#sin(110°)
w, = cos(182°) +isin(182°)
w, = c0s{254%) + isin(254°)
w; = ¢c08(326%) +/5in(326°)
B}
w, = cos(40°) + i5in{40°)
w, =¢0s(112°)+isin(112%)
w; =cos(184°)+isin(184°)
W, = cos(256%) + isin(256%)
w; = c0s(328°) + isin(328°)
O
w, = cos(42°) + isin(427)
w, = cos(114°) +sin(114°)
wy = cos(186°)+isin(186°)
W, =€03(258°) + isin(258°)
w; = €08{330%) +75in(330°)
D)
w, =cos(44°) + /s5in(44°)
w, =¢0s(116%) + isin(116°)
w, = ¢0s(188°) +/sin(188°)
w, =¢08(260°) + isin(260°)
w, = ¢0s(332°)+/s5in(332°)
E}
w, = cos(46°)}+/sin(46°)
w, =cos(118%) +sin(118°)
w, =c0s(190°) + /sin(190°)
. w, = cos(262°) + isin(262°)
w; = ¢05(334°) +isin(334°)

Write the roots in trigonometric form.

Page 64

19. Find all real values of x such that /(x) = 0.

20.

21,

9x—6

fl)= 2

A)

H on| -

WM N[

B)

<)

I+

D}

wiN

E)

|
Wi

Find the domain of the fanction.

=¥

=7

A} all real numbers y # -7

B) allreal pumbers y#-7, y=0
C) all real numbers

D) y=-7,5=0

E) y=-7

g(»)

Find the domain of the function.

@O =16-7

A) 4d<r<4

B) 1<sdorrz4
C) 20

D) 124

E) all real numbers

Page 13
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C) ) 23. Write the linear function f'such that it has the indicated values,

4&; .
T : . 3=, f-M=8
e ; 4 1
) A —_———x—
> AR TLAE
p 15 4l
543330 1.2.3 45 B oy=ry
i 4 : 7 .25
| C =—X+—
e il S
! £ ; D) VHIMHIW
D) 717
" B oy=my
i h
.
y T
; 30 {5345
2 :
L4
i .y
RN
E)
. N
T
i %
5432300153 448
0
2 ,
A ;

Page 62 : Page 15



19 38ed 91 9884

i
¥
- x
i -
I i H
r F H
I g i .
' d13 N I !
P N, il iy
SFET
M_ i 0 (T
i !
. ] w
H - P i
E LT !
4 ; :
L u H i ‘
L& 7 o
(g x ;
T £ i 1 m ;
| i H i I Lo
| i - i ohod
, T K2
! 8 — i
| _N. ; o]
[ e e —E-4§ -
- —+ | 7 I
x i .” ropbf
= i ] :
L H i
P ; 4
5 T e fepc
m ’ ] m - AW
| ; ) -
iy -
H [*] H
(v : W I
i L4 i
' - 5 - - ! Ay
T . |
o ¥ . (g
1 - |
3 1
2 ; i T i
< ; ] i N P
FV EC ) pgroEry 7l W
" Coy i ; |
NN R EEERENE L &7, B
4 : x i :
& i ; LY
o~ i domt 3
) Ji +
0 ' V { i
¥ HE - iy
P N
¥ v
X §-X
2 +2- bex =X s
go>x ..uﬂwl

“Areorgderd molaq mquind xaiduroo ot wesazday g6 ¢uonoung o sjwasardar ydesd qatgAy bz



97. Write the complex number shown below in trigonometric form.

A)

B}

<)

D)

E)

s

(2}

r . T
5lcos— +isin—
[#50r5+3)

[ 4w | 4w
6| cos —+isin—

2 3

[ x» .
6| cos— +isin—
4 4

\

r

heal

oK
COSnm TSN =
6 [

LY

Page 69
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90. Find the component form of vector v.

91.

A)
v={-4,-5
B)
v= Ah.uv
Q)
v={-54)
D) ) o
v={4,-5)
E)
v = Alhbv

Given u={-2,5) and v={(-5,-1), determine —2n—6v.

A) —2u-6v={10,10)
B) —2u-6v={22,10)
C) 2u-6v= AELQV
D) —2u-6v={20,10}
E) -2u-6v={34,—4)

Page 58

26.

27.

Use the graph of
Fix=2
to write an equation for the function whose graph is shown.
e
..., ] \
LA NIy
i ¥
E-A-A-2 g0 A 23458
S AREE
ot m
| ! m
A)
F& =G+ 1 -2
B)
D=z~ -2
9]
FR=(x+1 +2
D)
£ =Lee-p -2
E)
F@=2(xe1P -2

‘Write an equation for the function that is deseribed by the following characteristics:

the m_pmﬁ.m of f{x)= x>, but moved three units down, sever units to the left, and then

reflected in the x-axis
A) gx)=3-(-7/
B) g(x}=3-(x+7)
C) glx)y==(x+7)%~3
D) glx}=—(x+3>-7
E) g(x)=7-(x+3)*

Page 19
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z-xg=(xX8 ) (3
p-xg=(x}¥3- 1) (g
E—x+2p=(X}Z ) {0
T-ap=(x}8 ) (g
F+ap=(x)}8e ) (v
I+x=(x}3 c-xp=(x)f

"Bo fpuig

3<1— (3
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ve (¥
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X9+ xps-h=(xK8) (3

I+ Aps—p=(xN3) (a
1+xe-p=0X3) ©

9 +9-pxe={(xX8) (g

xop+ 9-pre={x}E) (v
I+X6-p=(x)3 xgph=(x)f

@ &) purg

SE+X9+ X171 =(E +) -(7
SI—x9- X [-=(®E+/) @
s—x-xe-=(E+f) O
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88. Two ocean liners leave from the same poxt in Puerto Rico at 10:00 a.m. One travels at a 32. Find the inverse function of f(x)=—4x-3

bearing of N47°W at 16 miles per hour, and the other travels at a bearing of $53° W x+3
at 17 miles per hour. Approximate the distance between them at noon the same day. _ A) gl)=- 4
Round answer to two decimal places. B) g(x)=-3x-4
A} 26.6% miles 3
B) 46.18 miles C) glx)=-—
C) 32.16 miles !
D} 30.58 miles D =X

E) 4245 miles ) &) 3

E) g(x)= |w.a+ 3

13. Find 2 mathematical model for the verbal statement:
"In 2 wire, the sirength of a magnetic field B is directly proportional to the foree F

and inversely proportional to fhe prodact of the current T and the leagth of the wixe 7

A)
B=iFE
E)
-z
: F
)
-2
I
D)
=%
FIL
E)
p-#L
I3

34, Determine the quadrant in which the angle lies, (The angle measure is given in radians.)
2z
3
Ay I
B) Il
O w
D) I
E) The angle lies on a coordinate axis.

Page 56 ) Page 21
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83.

84.

85.

Use a double-angle formuiz to find the exact value of cos2u when

ww.;mlh where N.Q_AN
25° 2 ’
478
A 2y =——
) cos2u &5
168
B} cos2y=——:
) 625
. 336
C) cos2u="—
) ool = s
D) cos2u=22.
625
1152
E) cos2y=———
) cos2u s

Given 4=55°, B=66°,and a=4.1, use the Law of Sines to solve the triangle for the
value of 5. Round answer to two decimal places.

C

A

A) b=368
B) b=392
C) b=429
D) b=437
E) 5=385

Given A=26°, B=36°,and ¢=15, use the Law of Sines to solve the riangle for the
value of b. Round answer to two decimal places.

A) a=999

B) a=1122

C) a=10.67

D) a=8.77

E) a=1210

Page 54

D)

—

E) none of these

36. Estimate, to the tens place, the number of degrees in the angle.

A)

-110°
B)

~300°
Q)

-170°
B)

-220°
B

-250°

Page 23
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79.

80.

81.

Write the given expression as the cosine of an angle.
€08 20°cos65° —sin 20°sin 65°

A) cos(65°)

B) cos(35°)

C) cos{-—45°)

D) cos(20°)

E)} cos(~130°)

Write the given expression as the sine of an angle.
5in35°c0s 50° +sin 50°cos 35°

A) sin(-100°)

B) sin(35°)

C) sin(-15%)

D) sin(35°)

E) sin(50°)

Find the exact value of sin{u+v) given that sinw=2 and nomeulw. Aw&;mbac

5
are in Quadrant 1.}

A) e.u?ivuum
B} m_.h?+<vum
0 sin(u+v)=—7
D) sin{u+v ulw
. 4
E) mE?f&HW
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38.

39.

wo§05¢%<§ubm_amnﬂ&mhammmﬁmmmmu._:_mv_nomN,aosoﬂﬁmmomwnamﬁoﬁu
QQD .

ahﬂa
B) «
Qm
Q.m
E) ,._.IM

Rewrite the given angle in degree measure. (Do not use a calculator.)
Sz

4
A) 450°
B) 255
C) 195°
D) 240°
E) 225°

.

. Find the area of the sector of the circle with radius » and central angle &.

radius: r= 3 meters central arc: muHHm'ma
A) mﬂ. square meters
B) m‘...ﬂﬁ square meters
) mqqﬁ square meters
D) .m.wla. square meters
19
E) Y square meters
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76. Which of the following is a solution to the given equation? . 42, Determine the exact value of secd.

&
2cosx+43=0
A) : P
e (I >
X .
3
B}
=7 h 5 HJ
== -z =
4 137 13
: 13
CAY =2
C) ) 3
-z 13
x=— B =
§ ) 3
) Q) —=
13
x= qls. 5
D) =—
6 ) 3
E) 1
E) )
T .
* iy 43. Find the point (x, ¥} on the unit circle that corresponds to the real number £.
mﬂmlu_ﬂ .
4
A)
(0.-1)
B)
148
77
%]
'3
¥ A2
27 2
%
Dj
‘.&W lm
2 2
‘
E)
[ E
272
\
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73. Which of the following is 3&¢&§ﬂ to the given expression? ' 46. Find the exact vaiue of the given trigonometric function of the angle & shown in the
figure. {(Use the Pythagorean Theorem to find the third side of the triangle.)

cot? x
csex+l Find: tan&
A) ¢ 3
tscx+ 2secx - ]
. a
B) b=16,¢c=134
csex 1 o A) wm
,,,,,,,,,,, 17
) g
cotx+2 WV 17
’ 38
D) ’ C) .,m
ten? x —cot® x D) |_1u-
E) 8
: , 17
—2secxese’ x ‘ E) ry
: . 7
74. Which of the following is nof an identity? 47. Given that cosf = Tk find escd.
A [Hint: Sketch a right triangle corresponding to the trigonometric function of the acute
g 2 angle 4, then use the Pythagorean Theorem to determine the third side.]
sin® x+cos’x =1
62
Ay /=
B) _w 1
1=sec’*x —tan’x , B) =
C) : : ) 1
tan? x+1=sectx 642
D) 66v2
D3 B) 11
cos® x=T+gin’x 642
E}

cse® x-1=cot x
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71. Use fundamental identities to simplify the expression below and then determine which
of the following is rot equivalent.

"
COS|— — X SecXx

A)

B)

©)

D}

E)

2

sin x

COsX

cotx

sinxsecx

tan x
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50. Solve forx.

51,

15
A) x=-2
) x 5
B) Hu%
3
5
C) r=—v
D) x=543
E) x=5J2
Solve for r.
A) wu_ww\mi.
B) wnHW)\M
A
i9
C) r=—n2
v ’ .st
D) wnl.&ml..
38
E) r=192
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54. Find the reference angle & for the given angle #.
69. Tf sinx = and cosx=Y> gl given aog

5 > evaluate the following function. &= 240°
secx A) 150°
B} -150°
A) ) 700
_ 1 D) 60°
secx = 3 E} 50°
B) 5 55. Find the reference angle & for the given angle &.
SECX = WI g=- m“m .
3 6
A)
C) T
SeCcXxX = .cxw Wu
T
D) i 5
secx =2 Q)
T
E) 3
12)]
secx = % 0
3 E)
- iz

56. Evaluate the cosine of the angle without using a calculator.

Az
3
a2
2
B) RES
2
<) B
2
1
D) -
E} 0
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59. Given the h of {x) below, sketch the graph of
65. Use the properties of inverse trigonometric functions to evaluate arcsin _Hmﬁﬁmmb . : gaph of f ?

S g{x) nknomHmN+WmH
3z
A) -y without the use of a graphing utility,
B) NMN : f(x)=4dcosx
Sz
o =
) > 5
2z 4
Dy 2=
) 5
x A .
B £
) 5 1 x
2% | -1n 2L 1 | 2
66. Find the exact value of mmmﬁgmu . -2
. -3
a2 ~
4 -5
8
3
o 2
) 5
3
D 2
) 8
4
B =
) 3

‘B
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62.

63.

Which of the following functions is represented by the graph below?

¥ =secdx
Dy -
¥ =ten{x+7|
E}
x
Hgl
roEmy

Evaluate cos™ ﬁluwlwl.w without using a calculator.

5%
A) IQM

z

B) -5
o \Wa
T
D} l.mw

T

E) a3
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60. Given the graph of f{x) below, sketch the graph of

2ix) = wﬁm -2
without the use of a graphing utility.

. X
J(x) m&hm

B)
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